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(1) EIC:X*+y* =1 FHIEEEE CF75 I RIVI4RET I K 60° (Y REA FiL?

MO @3 @) (-1-1) @) @LV3) 6)(—~2,~2)
Ans:1,4,5

[2) 357 : x®+y?—10x+9=0 B FAYE o SR T 5 IE R IEREAY 2
(1) T HIELLAERE S (5,0)
()T _AYBEBIE 45 L ¢ 3x+ 4y —15=0 AR EIEEEE 4
(B)E4R L, © 3x+4y+15=0EATHE]
(AT AR EBETE S L, ¢ 3x+4y =0 HURRHES ) 2
(G)I H&HEVU(HEEIE 4R L, © 3x+4y -5=0AVEEEEEA 2
Ans:1,2,4

[3) AP A —DURSEE O BELLHIE C » WHLR x—y+1=07% Q » RWE: - T4I[E C HA—% P (H5APQR &
—TE=A o 55 TFHETEEIE -
(1)O BLE P BEESE QR fyhaE4s
(2)P BL{FES = HIR

— . 1 2
(3) QR HYFFBEAE S (— 5, )
(4)[El C (9772 X2+ y?=2
(5)E 45 x—y—1=0 }[B] C 1£ P BEATLII43

Ans:1,4

ZCBEEBE (BEE 7To#7003)

S LY AZIN BEEEensdta TEA () MEET , “HER 7|5 (4-19) -
25 AL IMF R 2 FHET S -

[A]) EHE4R 3x+4y+a=0 H[E] x*+y*+2x—6y+b=0 ¥Jj*—EE P(c, 7), Ka+b+c= (4)(5)(6)
Ans: a=-34, b=-15,¢c =2 a+b+c=-47

[B) EIC:x*+y*—2x+4y-4=0FH& L :3x+4y+1=0,FH4 L, :4x-3y+5=0 L =(EEREA__(7)  (EHRAE

Ans:4

[C) () =x" =3 +2x* +kx=1 > g(x) = X* +kx* +2x+3 » F f(X)x g(x) PFEITHE GBI Ry 27 T TR 2 5 >
Hk>0>kk= (8)

Ans:k=3




1
[D] X= ﬁ ORX A A +4x+3 = (9)./(10) (E R =)

Ans 4/ :

[E] 2x* —5x® +3x? —4x+7 = (ax+b)(x* + x+2)(2x - +c(x® + x+ 2) + dx +e
Ka+b+d+e= (11)(12)

Ans:a+b+d+e=-3

[F) & —2TE5 f (X) = (x+2)* =3(x+2)% + (x+2)* + (x+ 2) +19 Forpk ax* + bx® +ox® + dx +e Y= » Hra, b, ¢,
d, e FRAEH > Alb+c+d= (13)(14)

Ans :#¥t (a,b,c,d,e)=(15,7,117) .

[G] f(x)=x"-50x>+6x"+4x>+25x*-30x+6 > 3K f(7)= (15)(16)
Ans: -8
[H] s h(X) ¥ x* —1ERBAVERR B 3x+4 > I HEXTh(X) AR x » 5 h(X) 87 x(x* -1) igrest A
PX> +gx+r > K p>—q*+r°= (17) o
Ans:7

(1) ailE > BifEEDCE - KEFERE R S /NEER R 3 > KIEFE—WNE=AF ABC »
Hi AB=AC » BCYINENM » HABZ/NEFP - QFi%s » 3K PQEIERE R (18)
Ans:4

(3] EXIEEE FA—EE X +y* +2y -1=0 B FRIH R B4R L 3x—4y =h » L, :3x—4y =k » CLAIE{EE R
HARTHICEY A ~ BRI C ~ DREgEL > %5 A ~ B ~ C ~ DIRIFA—EIETTH - Alh+k = (19)

Ans:8



